


g




L r@? e/ﬁfﬂf@%

,%) >< 45 %)

e a,,, + 3 agix M * “‘“‘ CZ{WWXW f




stin ek shikd deckam: Tfwhzo.)



O RN
fou) = fea) 15 A fach)







Tall (), rtprn

/(0,1) = 0.
, (f:; 7} f(sj o
a=(0, : |

Mm‘rao )%:)11;0
Wém ’ ) =10 0 J
51[0/0 '{ 0 -~
Y a #0,0) %(o,o)c;f . ;(1 o
. 4 7 : 1
Jrgros :ﬁ‘ww =% 7
7.>( =
Xa 9

2 evéws);; 0:9%,4)
y . s b,

i alla amee S,
fo




amp—

W f”‘”én%) = Xyt yey T2 C
Wﬁ W (1)

SLXg, -2 =0
% y'ﬂ-ig%"}o (%)

ylrdL® =0 (%)
R
2 =4
(%) JUn e )
—~ j T Vs = {7
jMwﬂx/J ~ (D X fﬁl} A g
2/3
"L; ?’?) g o
Tl 2 (1) YRS ,oxel
%@&/0"’*’* ZL: l , :,z.










|

xy(d-%) =0 (1)
| = (2)

yH(1-4) =0

(1) (= ¥=0 Mn y=0 Mo ¥=12

Q’) E7 Xz o ellen 4=l

Fodhe W (04 b (21).
Gt /31) ar WM

6(&)1};’

3) Vo Pl X =0 {0372

?; /)«(/"V'ﬁl/v‘/‘ g’ =0 - ﬁ{xno) = 0
a —fx+u-y)
Pa Aeodmixrg=t o f (x, 4y = e i
%\05!5"[ B 71“" y)eff

g04)= 4 r)e= (10 v
g4'04)= [v x - 3){?6“ X [ ¥3x )e=
o0 Mo ¥ = %‘/, L”%:’?:'s
O :

[(5,4) = Bt are 22t
2 L arnador : (o,y)=0 = fEX2)=2
// C% f ?(},’ﬂ - ye T o~ 0199
g 956 o~ pat4 < 4(2,1)
5(4;,,5) e 0 4§ .




Example 6 in lecture 3.2

f(x,y,2) = x"2y +y"2 z + 272 - 2x

£ = @(x) ( x(1)"2*x(2) + x(2)"2*x(3) + x(3)"2 - 2*x(1l) );

Df = @(x) ( jacobi(f,x)' ) % gradienten
x0 = [1;1;1] % startgissning f?r newton
Df (x0) % test av gradienten
Df =
@(x)(jacobi(f,x)")
x0 =
ans =

0.0000
3.0000
3.0000

x = newton(Df,x0,1le-6) % kritisk punkt

X:
1.0000
1.0000
-0.5000
D2f = @(x) ( Jjacobi(Df,x) ) ; % Hessematrisen
H = D2f(x)

lambda = eig(H)

y f(x) % vardet av f i x



2.0000 2.0000 0
2.0000 -1.0000 2.0000
0 2.0000 2.0000

lambda =

-2.7016

2.0000
3.7016
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